
 

 

 ZX9-R 98/01 HUGGER 
 

Part # 07332 

 

Fitting kit contents; 

 

2 x M6 x 12mm button head s/s allen bolts CBOL0123 

3 x M6 plastic washer    CWAS0221 

1 x M6 x 20mm button head s/s allen bolts CBOL2165 

 

Fitting instructions; 

 

First remove the chain guard and left passenger footrest where it mounts on the chassis rail. 

 

Now remove the plastic rear brake hose guide, mounted on the top face of the right hand swinging arm, using a 

10mm socket. 

 

Now position the hugger approaching from the left side of bike. 

 

Attach the chain guard mounting side first using the 2 x M6 x 12mm bolts and washers, do not fully tighten yet. 

 

Now move round to the right side and re-fit the brake hose guide with the hugger sandwiched between it and 

the face of the swinging arm using the M6 x 20mm bolt. Fully tighten this bolt. 

 

Fully tighten the two chainguard mounting bolts. 

 

Check the hugger is centrally aligned over the tyre by viewing from the rear of the bike. If alignment is poor, 

first check that the rubber foot is in place on the right hand flange face of the hugger. Then loosen all three 

hugger fastenings and re-tighten using the tolerance available to achieve correct alignment. 

 

 

 

 

 


